APTET — Paper- 11A— 2024
(04.03.24 S2 Language Telugu)

“Psychology is the science of behaviour and Experience”. —
This definition is given by

1. Pills bury
2. Skinner
3. Norman L. Munn

4. Edwin G. Boring
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This statement is incorrect regarding growth
1 Quantitative

2 Functional

3. Physical and Outer

4 Stops on reaching maturity
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According to Hurlock adolescence age is

1. 10 or 12 years to 13 or 14 years age group
2. 18 or 20 years to 30 or 32 years age group
3. 06 years to 10 or 12 years age group

4. 13 or 14 years to 18 years age group
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As per Piaget’s theory, the problem solving capacity at this
stage

1. Sensory — Motor stage

2. Pre — Operational stage

3. Formal Operational stage

4. Concrete Operational stage
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Psycho sexual development theory was proposed by
1. Sigmund Freud

2. Eric Ericson

3. Jean Piaget

4. Laurens Kohlberg
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What is the Second stage in the process of creativity according
to the book ‘Art of thought’ written by Graham wallas

1. Preparation
2. [llumination
3. Verification
4. Incubation
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The theory of multiple intelligence was proposed by
1. Spearman

2 L.L. Thurstane

3. Guilford

4 H. Gardner
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In this type of leadership, the opinions and feelings of group
members are valued

1. Authoritarian
2. Leissez faire
3. Democratic
4. Sovereign

RJTIoS"R VAo VPATOD, TR WS §3)
JPADESE(0 T50

1. QBOKF

2. P
3. (RerdrySg
4. O NAISE



10.

The attribution of one’s own impulses or deficiencies to others
is an example of this defense mechanisam

1.

2.
3.
4

Sublimation
Repression
Regression

Projection
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The number of mental abilities of intelligence as mentioned in
the book “Primary mental abilities.” Written by LL. Thurstone
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11.

If the knowledge of elements in chemistry and arrangement of
electrons is helpful to learn modern physics, this transfer of
learning is related to

1.
2.
3.
4,

Theory of generalization
Theory of identical elements

Theory of Ideals

Theory of transposition
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These are the methods of learning concepts

a. Innovation

b. Through comparisons and differences
c. Through examples

d. Through words

1. only b

2. a,b&c

3. a,b,c&d

4. only a
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One of the following important aspect of Bruner’s Instruction
theory includes the three sequential methods — Enactive,
Iconic and Symbolic

1. Motivation

2 Instructional order

3. Discovery learning

4. Intuitive thinking
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Chandu takes 9 trails to learn 10 meaningless words. After one
week he takes 6 trails to learn the same. Chandu’s saving score
is
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15.  “Learning is the modification of behaviour through
experience and training” is stated by

1. Crow and Crow
2. Skinner

3. Gates

4. Smith
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16.  This social factor does not influence students learning

1. Stress

2. Heredity

3. Social maturity

4. Discrimination
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The law of learning underlying the principles of innovation,

frequency and repetition is

1. Law of Readiness
2. Law of effect

3. Law of exercise
4. Law of Proximity
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Regarding motivation this statement is incorrect.
Motivation is the high way to learning

Motivation inhibits learning speed

Motivation is a process that leads to a destination
Motivation depends on the needs of the individual
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19.

20.

The domain that involves the assessment of achievement

1.
2.
3.
4.

Cognitive domain
Affective domain
Psychomotor domain

Social domain
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The first stage in the five stages of perception process

1.
2.
3.
4.

Selecting certain stimuli
Receiving stimuli
Respond

Organization
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According to Herbart, First step in lesson plan
1. Presentation

2. Plan

3. Preparation

4. Association
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According to RTE — 2009 out of School children age is
1. 3 — 10 years
2. 6 — 14 years
3. 6 — 18 years
4. 3 — 18 years
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The term “Learning Disability” was introduced by
1. Kirk

2 Parkar

3. Jhonson

4. Marland
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One of the following is not related to ‘OERS’
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Guidance for a student to choose a suitable career after
completing his degree

1. Personal

2. Vocational
3. Educational
4. Directive
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Possible disability due to ‘Turner syndrome’
1. Hearing impairment

2 Blind

3. Dwarfism

4 Learning Disability
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1 Byte =
1 865 dews =

1. 1024 Bits
2. 1048 Bits
3. 64 Bits
4. 8 Bits

This committee has proposed to rename MHRD as (MoE)
‘Ministry of Education’

1. Modaliar

2. Kothari

3. NEP - 1986
4. Kasturirangan
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The objective of ‘Fit India’ programme is

1. Research

2. Enhance of attendance
3. Physical Health

4. Readiness for exams
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First National Education policy was Formulated in India in
this year
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Read the following conversation
A: I have my final examination today
B: All the best

The intention of B in the above conversation is

1. to offer some advice

2. to express thankfulness
3. to curse A

4. to express good wishes

You are offered a cup of coffee. You want to accept the offer.
How would you accept the offer politely.

Choose your answer from the following.

1. I hope everything goes well.

2 Thanks a lot!

3. All the best
4

Same to you!

Choose the option that is a formal salutation for the formal
invitation.

1. Hi there,
2. Dear (recipient’s name)
3. Hello,
4

To whom it may concern
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68.

The significance of the title in a short poem is

1.

2.
3.
4

titles are optional
titles distract context and insight
titles are used in longer poems

titles provide context and insight

Choose the correctly punctuated sentence.

1.
2.
3.
4

Both (A)/ he and you (B)/ must attend (C)/ the function (D).

Father said, Do you have a pair of old shoes.
Father said, “Do you have a pair old shoes?”
“Father said”, ““do you have a pair of old shoes.”

Father said, “do you have a pair of old shoes?”

Choose the part that has a grammatical error

1.

Choose the suffix that suits to get the noun form of the word

2.
3.
4

o o w »

‘honest’

1 ly
2. y

3. ness
4 lly

The word ‘masterpiece’ has stress on:

1.

2.
3.
4

the second syllable

the third syllable

the second and the third syllable
the first syllable
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70.

71.

72.

Choose the meaning of the idiom “took by surprise.”

1. taking part in an event.

2. happens when you are not expecting

3. to be a part of

4 for a very long duration

After a very spell of heat, the weatheris _ at last.
Choose the phrase that fits the blank.

1. looking into

2. look in

3. look after

4 looking up

Choose the mis-spelt word out of the given options.

1.
2
3.
4

Choose the option that can be used as a one-word substitute
for “a branch of philosophy that studies the principles of

apologies
communal
conviction

impression

beauty in art”.

Choose the antonym of the word ‘freak’

1.

2.
3.
4

epistle
aesthetics
agnostic

prodigy
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75.

76.

A light convulsion passed over it but it did not stir.

Choose the synonym of the word ‘convulsion’.

1.

2
3.
4

composure
shiver
tranquility

equanimity

His mother thought Albert was freak.

Choose the antonym of the word ‘freak’

1.

2.
3.
4

rarity
mutant
deviant

normal

Choose the sentence in which the articles are properly used.

1. The more he drank, the better he felt.

2 He was able to capture such the large tiger.

3. I’ll give him the good beating!

4 He had never carried an sword.

He is trying to adapt himself ~ the regrettable occasion.
Choose the word that fits the blank.

1. with

2. by

3. to

4 of



77. 1 cut my hair every month.
Choose the correct option that fits the blank.

1. has to
2 has too
3. have to
4 had to

78.  Choose the pair of sentences that can be written as a single
sentence using the word ‘if’

1. Don’t tease the dog. It’ll bite you.

2 I was going to college. I saw a snake.
3. He woke up late. She is a doctor.
4

They are late. I like sweets.

79.  She asked me, “When are we going to leave?”
Choose the reported speech of the sentence above.
1. She told me to leave this place.
2 She asked me why are we going to leave.

3. She asked me when are they going to leave.

4

She asked me when we were going to leave.

80.  Choose the sentence in passive voice.

1. The house was built in the middle of the nineteenth
century.
2. We lived in our ancestral house.

Mine was a very secure childhood.

4. I had three close friends in my childhood.



81.

82.

&3.

&4.

Twenty percent of the sum given to the children’s
hospital.

Choose the option that fits the blank.

1. are

2 have
3. was
4 were

The meeting which was held in the town hall was a great
success.

The above sentence has

1. a defining relative clause.

2 a non-defining relative clause
3. a noun clause

4 a conditional clause

When Nick was born, his father was so shocked that he left the
hospital room to vomit.

In the above sentence the word. ‘so’ is
1. a preposition

2 a linker
3. an adverb
4

a conjunction

Imagine having no legs to kick pebbles down the street, to
walk or run, to bicycle or skateboard.

In the above sentence, the word ‘bicycle’ is

1. a verb

2 a noun

3. a common noun
4 an adjective
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88.

I have read the book and returned it to the library.
This is:

1. a simple sentence

2 a compound sentence

3. a complex sentence

4 a compound complex sentence.

[ understand your problems; | I can’t help you.
Choose the linking word that fits in the blank.

1. o

2 though
3. although
4

however

Victoria was dressed colours.

Choose the correct preposition that fits the blank.

1. in
2 with
3. by
4 on

Shall I make a cup of coffee for you?
The above sentence indicates:

1. advice

2 offer

3. making a request

4

expressing possibility
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Read the following passage

Don Quixote the knight found 30 — 40 windmills. He mistook
them for giants. He was so found of adventure that he decided
to fight them. He wanted to make a lot of money by defeating
them. Sancho Panza, his loyal squire, tried to warn him that
they were only windmills but he didn’t pay any attention.

Don Quixote mistook the windmills for:

1 Giants

2 Dragons
3. Castles
4 Bandits

Read the following passage.

Don Quixote the knight found 30 — 40 windmills. He mistook
them for giants. He was so found of adventure that he decided
to fight them. He wanted to make a lot of money by defeating
them. Sancho Panza, his loyal squire, tried to warn him that
they were only windmills but he didn’t pay any attention.

Don Quixote decided to fight the windmills:

1. To impress Sancho Panza

2 To prove his loyalty to his squire
3. To make a lot of money

4 Because he was fond of adventure
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